Ok _20\6 Papor 4

= s (O + )

I @ = 38in0 =
KwsO sd —RIAB SA o

R=N*+3*

e%g&tc M.s WP | = Repsak
v . SAD: 3 = Raing = 1o

A= achan(2)= 1249 (hs.f)

Zoind. = 3

Hasd
f (030- 23n0 = JI0 cos(B +1:249)

This lnas yux value N0 gad o <4 .,
OSO- 38O = has vp soLuTion.

2 (l +%>1=\-:c. y =X &,

JaNA for _[%l<)




3 o=k OLUME =7(Y x* du
I o )
\lz:xz =K X I!a
4 AT
'
=x| 2y "
LS )
=1 (™) - 0)
= |67 adoic uniks
3
o 285028 = |+ 828 toule A BemulAE
‘ = A + o> in20 = 729 &
820 2 Ne -G

AainBes-208t0 =0

20502588 - (0s0) = O

(o0 =0° or 2508 — (058 =0

G =P 9600 = Loy
Sine =
e 2
tan@ = L
2
6 = erion(s)

iy O°< 05 1900 ace 026:6° (3sf£) L N°




L0 (D0 = X AARC using "SoHCAHTOA"

)
AC ©=z=_\ _
and” sec

|
8
@
L1
P
o

v,
b
S
O
>
O

)

(ws® = AL AACD

SecB=AD  suxbk hr AL fom @D

st TAD (R

(030 = AD A ADE

2%
SecB = 2x swask. for AD  from GO
| AD
3 -
oA sec®® =2
ez 2  pED
Pl N Y =TGPV V)

oL |

c_who _of EDiCR s _same as mhbp AE: AC , ol S

2% A secl® fm&@)

2 LA SerB =7, Fvorvx, ga,d:(i.)
L 9 ="

2% s

28 QED




6 X = 2t Y= 2"
dx =2, = =2k
x .
] (£ed x- &y mh_rcwl"s end
_dy = - e wie & olea = Lok
dor e
il 4. of line seament RQ
4-u, = N
w2 = =L [y ~2F) 1S_Eeuanon of line RAQ
d b t’b 4
_31‘{31(;&]&&&_,2(; u-% = -5 ('Zﬂ
G
= 2
Y=L %
= &
£
a0k Whase uz -Et:"—‘--{l;(oc-?.t)
£ \R T2 = 3 -2t
€ N\ ¥
N
HLE AOQR MEn = £ (W) (£)
o
NBNER = S0 =% ¢_ualts

Which 18106 6P DENT

eof_» ﬁ QRED.




~
—~
-
D
I
[<;
|
1o

A R

I
] .
o
\?j'

0o

)
] A

N
¥

{1

—
—

"
gl

4 8

S O0EMAL Yo 2 &Ffﬁr&/\l' mpjiﬂ_h_

N
N_AS oMM, to V.

—
Lsing veckors, 5—5 o DF

W
v

E
:%
¢

D\Mc DOF
NETGAY (2 = —s(c)
%) \«)

= (\5) y 2(20) ’r(:S’ILF)
= 60 - kD - 20
=0
s noeval o plase DPF.

"

AW
ké/ )
4(15) y 3(-10) 4+ O
60 ~ 60

@

A

CARTEDAY ERUATION 1o \51—203 ¥ He = A
' O -0 +920 =4d

sl gk, 2(0,0,5)
20 = 4

-I_i_m“:_Z_Q% Yy 42 =20 s CAel. EQM,

(i) bne Ax s = /‘*\Jr?\/"’\
o/ {5/




+ (i) Q 18 ot ialrsechion of line f=/§\ v AL =/,9f'\

ant o G 1)

15[k -t A) - 20(32) + k(S =20
60 -60) —bOA + 201 =70 =0
-l00A =k
A =%s st inlo Ling

o) 25/ [*%) . @ sp(5,5.2

F ‘ \2/ p—
mbo AQ:QG s (L)) ;[ [
lo-al: g -q] “\2_” \3/
v 2te 2t : 2 rg* 43’
I L
oo AQIQG. E 25
(W) A ehwon ling md plane 15 90°=(bk ehwgn ling £ tormak to plane)
4 behamn 0 gnd _direchion QE AG s B= | N f |
I _In\\AGL
Q.P\&:(—w\.[f\ In\=d 52+ 20 ¢ 4 © = arops [ - 100
SRS = lob| \5&13@7!}
Z -40-60320 |AE\= 517, = 123-95%...
= -100 ocwe A is 1%0 - 123-95%...

= 5604 (43.0)
b reavu,ir@\ s 90— S = 3-0° (3sf)




3 (i) JMS = Y v )
2400 2L
= 2=  + 2+

(2x2)(2-20)
T
(2+2)(1-x)
= RMS | QED
(ix) 4= n (E2)
whea £=0 O = LA-(
@.0 - z._l-\-ac. %=
€ T
0= 2x
X =0 o hen 420, x=0. QED

(i) ke of Change of a s é—‘-" Rt And ?‘%:u_, then (cipaabe.

b= n(2yx) = Info-2¢)

dt = ) + |
rrd 2+ L A-%
= & fom pM[L)
(e )2~ x)
dx = - [242)(2- x) ;. ak s pmpedhional 1o
ax |

mm_pazdgmlLamﬁtﬁnf of
o{ommm S

———




(i)

L= In[E5)
+ _ 2 +ol
&~ S
(2-x) et = 242
2t -x et =2 +rx
2¢f -2, = x v xct
2(ct 1) = o1 +et)

x = 2(et-\) xet
(e¥ + 1)

= 2(1-¢")

[ +e™)

e""v

Q.e.D

As t=o0, ¢t >0 o2

. _lona teen MasS 18 2 ma,
= =

(v) X = k(2+x)(z-)e” sepae. Vo
(v Ay = l<5€,'kd£
J (2 rx)(2-x)
e VI A 3;!95}-;&5 -
23X X T o
lofZ)=-bke +C
L,\/ZJ(OC\ = -er(’,“k + C O = -Lk rC
L2 - e = ¢
= —ble® v bk
= hk(1-e™)
QAL




(Vi) in_ Yo U)n:aj e o = 185, e =0

/‘/\./2.'\' 185\ = 4l

(2-185

k. Ia[Z2)  =0-gll [1sf)
T S




